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UNIT-T1

5 Determine the centroid of the area shown in Fig. 15 with respect to the axis  CO3 L1 12M _ i||||uw¢....§
shown i, ».
| 30 mm
: —
¥ A 30 mm
4
Ey 0% 4
._ﬂ. L3 m
oz i %

ai &m fe—ain—s * UNIT- ’ .
Fig. 15 9 A plane is loaded & suppoerted as shown in fig.29. Determine the natureand CO5 L5 12M
ig.

magnitude of the forces in the members 1,2 and 3
OR

6 Find the centre of gravity of a channel section 100 mm x 50 mm x I5mmas CO3 L1 12M
shown in Fig.18
A 1450 nom | NK
= 15 mm

L
7 - |E hlm..*

Fig.29
OR
10 A king post truss of 8 m span is loaded as shown in Fig.33. Find the forcesin CO5 LS 12M
each member of the truss and tabulate the results
2kN
. o . - 2kN c 2N
7 Find the moment of inertia of a T-section with flange as 150 mm x 50 mm CO4 L1 12M -
and web as 150 mm x 50 mm about X-X and Y-Y axes through the centre of IN g p LN
gravity of the section as shown in fig..20 < r/x7
d F 6 H &
x 8§m
Fig.33
*kk mzc dddk

—»{50 mmba—

Fig 20

~ OR

8 A rectangular hole is made in a triangular section as shown in CO4 L2 12M
Fig.23.Determine the moment of inertia of the section about X-X axis
passing through its centre of gravity and the base BC
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